
OPEN MIRROR
by DIGITAL HABIT(S)

MECHANICAL COMPONENTS:

1 Linear Guide, Drylin, L 300mm - NS-01-17-03
2 Slides, Drylin, NW-02-17
2 Tapping Screw, 2,2 L6,5mm
5 Tapping Screw, 2,2 L9,5mm
31 Tapping Countersunk Screw, 2,9 L25mm
9 Tapping Countersunk Screw, 2,9 L12mm
4 Dome head Screw, M3 L6mm
4 Countersunk  Screw, M3 L12mm
4 Nut, M3
6 Magnet, D10mm H4mm
6 Countersunk Screw, M5 L20mm

NOTE: The mechanical components are included in the mirror’s kit.

ELECTRONIC COMPONENTS:

3 Adjustable Infrared Sensor Switch 
1 Power Supply, 15V 1,2A
1 Speaker, Full-Range 2,5’’, min.8W 8Ω
1 Tweeter, 1,2’’, min.16W 8Ω
1 Microswitch, V3
2 Strip Led , 12v L250mm
1 Pod Breakout v1.5
1 DC power jack with slide switch
1 Terminal block H-type, 8 way
1 m Flat cable, 2 conductors
0,5 m Flexible sheathed cable, 8 conductors
2 Wire Stopper

info@digitalhabits.it
www.digitalhabits.it

LIST OF COMMERCIAL
COMPONENTS TO BUY


